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GSE/D-20 721
MICRO ECONOMICS-I
Paper—I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 and 2 are
compulsory. Attempt the remaining three questions, selecting

one question from any three of the four units.
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1. Compulsory Question (3tfram u9e) ¢

Himani and Natasha went to the market to buy apples. Their

individual demand curves are given through the following

schedules :
Price of Apples Himani’s Natasha’s
(in Rs.) Demand Demand
1 4 5
2 3 4
3 2 3
4 1 2
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Answer the following questions :
(1) Which law of economics determines Himani and Natasha’s
behaviour? Explain the law.
(i) Draw the market demand curve with the help of individual
demand curves.
(i) What is market demand? Give its two determinants.

(iv) Define extension and contraction of demand.  (4x4=16)
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2.  Compulsory Question (3tfram u9e) ¢

(A) Choose the correct answer : (5x1=5)
(i) The book named “Principles of Economics” published
in 1890, was written by :
(a) Malthus
(b) Marshall
(c) Adam Smith
(d) Ricardo.
(i) Scarcity refers to a situation in which demand for a
commodity s :
(a) Lessthanits supply
(b) Greater than its supply
(¢) Equaltoitssupply
(d) None ofthese.
(i) Movement along the supply curve occur due to :
(a) Increase in price
(b) Decrease in price
(c) Factors other than price
(d) Both(a)and (b).

(iv) Atbreak-even point:

(a) TR=TC
(b) TR>TC
(c) TR<TC

(d) None ofthese.
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(v) As per Modern Theory of Cost, the shape of LAC
curveis:
(a) U-shaped
(b) L-shaped
(c) S-shaped
(d) Inverse U-shaped.
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(B) Match the following : (5%1=5)
1. Adam Smith (a) MU=0

2. Point of saturation (b) Diminishing returns to
a factor

3. Basisof Theory of Rent (c¢) Wealth of Nations

4. Long-run AC curve (d) Unlimited wants
5. Problem of Choice (e) Planning curve
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(C) Define the following : (3x2=0)
(a) Indifference Map.
(b) Mixed Economy.
(c) Elasticity of Supply.
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UNIT-1

(FHE-1)

3.  What are the central problems of an economy? How are these

problems solved under capitalism? (16)
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What is price elasticity of demand? Explain any three methods

to measure price elasticity of demand. (16)
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UNIT-11

(FTE-11)
Explain the Law of Diminishing-Marginal Utility. Discuss the
importance and limitations of this Law. (16)
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Explain Consumers’ Surplus. How it is measured? (16)
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UNIT-11I

(FHTE-110)

Explain the Law of Diminishing Returns. Why does this Law

mainly operate in agriculture? (16)
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8. What is Producer’s Equilibrium? Discuss it with the help of
iso-quants. (16)
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UNIT-1V

(FHE-1V)

9.  What are the Total Cost, Average Cost and the Marginal Cost?

Why Average Cost curve is U-shaped in the short run?  (16)
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10. Discuss the graphic method of Break-even Analysis. What are

the advantages and limitations of Break-even Analysis?  (16)
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